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41.  Assertion (A) : “The Biological Species” concept helps us to ask how species

are formed.

‘Reason (R) : The concept of Biological species focusses our attention on the
question of how reproductive isolation comes about.

(1) Both (A) and (R) are correct, but (R) does not explain (A)

(2) Both (A) and (R) are not true

(3) , Only (A) is true but (R) is not correct

M;)/ Both (A) and (R) are correct and (R) is a true explanation to (A)
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42, In ophiurcidea branched arms are seen in :

Gorgonocephalus (2) Clypeaster
(8) Salmacis (4) Gorgonia
LRporrond 6’ wperr o) MHasver FOAHHG
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@) Fedd (4) 67 Do

43. Note the following :
(@) It is a fresh water, metamerically segmented protostome.
(b) The clitellum is absent.
(¢) It is unisexual.
(d) Its larval form is Trochophore.
() The nervous system is found in the epidermis.
Which of the above is true of “Paddle worm” ?
o8 1808 AR Hebdodsn :
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44, Match the following :
List I List II
(A) Green glands (I)  Seolopendra
(B) Amphlds and Phasmlds (IT) Respiratory organ
(C) Ctenidia (ITI) Shell protein
(D) Poison claw (IV) Excretory organs
(E) Concholin (V) Sense organs
806 &R BSSHWHID :
ad ot L | aefee II
(A) v Hogben @). VHE°Boe
(B) wodd HBan I (II) =28 eFadssn
(C) &J&d%r (III) 58 @S
(D) EHE® (IV) D88 eofohHdaw
(E) swe0&°DS ' (V) e=Jcorren
The correct match is (88 oy =d): °
A B C D E
wwo v i I 1
2 1 111 IV \Y% I1
@ 1II v v 111 I
4) III A V II I
45. The type of connective tissue that is associated with the Umbilical cord is :
(1)  Areolar connective tissue (2" Jelly-like connective tissue
(3)  Adipose connective tissue (4) Reticular connective tissue
mﬁdw&g&n SowodoRd Soddred Smstod TESW
(1) 2b@rerE Sodmey Somrosy ( E!)aioeﬁ So@Broul Snerosy
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46. Note the following :
(@ It forms the lining of the cavities of alveoli of the lungs.
(b) It forms the lining of wet surfaces like buccal cavity and oesophagus.
(e) It occurs in the ducts of sweat glands.
(d) It forms the lining of salivary glands and sweat glands.
() It is a loose connective tissue.
Which of the above are associated with simple epithelial tissue ?
8ed &=AD HbRowhas :
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In vorticella, the total number of micronuclei formed at the end of pre-zygotic
nuclear division in female gamont is :
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Which stage in the life cycle of Taenia solium, infects the intermediate host ?
(1) Hexacanth larva ~ Oncosphere
(3) Cysticercus larva (4) Miracidium
SDate FOawD LIS JFSWE® D ¥ SrEgd ©8Tand JoERoshib:

(1)  Sepowl Fo&s &%%o
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Assertion (A) : Predation is an interspecific interaction with a feeding strategy.

Reason (R): Predation and their prey maintain fairly stable population
through time and rarely one population become abundant or
scarce,

(1) _ Both (A) and (R) are not correct

@/ Both (A) and (R) are correct and (R) is a correct explanation of (A) -

(3) Only (A) is correct, (R) is not correct

(4) Both (A) and (R) are correct, but (R) is not a correct explanation of (A)
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- In pheretima, gizzard, buccal cavity, pharynx, oesophagus, pharyngeal nephridia

receive the blood from this blood vessel :
(1) _ Supra oesophageal (2) Lateral oesophageal
Dorsal Blood (4) Subneural
POLSrE® ©080 BEEI, GHZPITSL, (T8, wIEEPIE, (TN Syspes
Oy 8 SEor¥o aoe Ao
(1)  egegsts o grege (2) &rOr a8y aedrse
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51. The location of lymph glands in Pheretima is :
(1)  4th, 5th and 6th segments (2) 10th to 20th segments
26th to the last segments (4) 13th segment
BoSae Gy FRACS (oo FFLn S ob S o
(1) 4, 53, S8 65 poddaves
(2) 105, =2ob8dn SHod 208 moddsn SUH
(3/26&5 poldss ol DI6 podESy - SEN
(4) 138 wmolddsn

52. Note the following :

AM 2009 A

(@) Fenestra (b)  Pedical ()  Lacinia

(d) Flagellum (e)  Galea (i  Mentum

(g) Palpifer ()  Cardo (i)  Glossa.

Which of the above found in the first pair of maxillae in the case of
Cockroach ?

g (8od oV HLAosn

(@ Soew () &S (@ BIaHe

(d) %:;Eg& () T[Oce H  Dow
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N)) ¢, e, g and A (2) a, ¢ eandi

8 a f gandi (4) b, e gandi

53. Note the following : ,
An insect whose mouthparts are biting and chewing type in the larval
condition, while they are siphoning type in the adult and this insect gives an
economically important substance during yet another stage of its development.
The insect is : _
(1)  Anopheles (2) Laccifer

Bombyx (4) Apis

& (8ud 80 HXVoHSw :
Bo¥ S¥6° 5708 I8 swpprrishesk FPEE¥E® Srasrtdny Seperidoes
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Note the following :
(@) Monocytes (b)  Trophocytes (¢)  Lymphocytes
(d) Mycetocytes ()  Leucocytes n Oenocytes
(g)  Urate cells
Which of the above are fat. cells in Perjplanata ?
(1) a c eandh Mdfandg
B) ¢ e fand g 4) @ c eandf
B8 (808 oA HHVoPHSw ¢
(@ . St b) (& FRE €) dodfnefen
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In cockroach which of the following is the principal motor centre :
(1)  Supracesophageal ganglia Suboesophageal ganglia
(3)  Metathoracic ganglia (4) Abdominal ganglia

E‘&o§6° 8 (808 E° A8 FErFdd wrol 'QOLCSGS.WF Ko :
@®° sty o 8K0d ( ©E 588 airw =hKed
38) oSy =4 Sobd 4) @88 8T8

The growth of a mpulaﬁun without limit at its maximal rate and also that, rates
of immigration and emigration are equgl, then it is called :

(1) Carrying capacity (Y Biotic potential

(8)  Positive growth (4) Negative growth

o Boee SH0, B0W8 Bhoae HOE Fawd® Hob, N0 Jos oddo
SHdokn SosDeSHe © ?Po:o Shorr By co;pda ©d b&wéz)& ger ®woh:
(1) geo¥8 55:3“6.’»630

(3) 6@&&5’ S 4) amsa‘-"ééﬁ' 58

57,

The state of Gujarat has river, desert, forest and lake ecosystems, thus exhibiting
a diversity of life. Which measure do you use to denote total d1vers1ty in such

a case
Hewrd cod® 38, dad, wdd Dbk IEEH LdrSie SgEer §OH
45 Dy E S BEBH 0. S R86* &t O Faresng Sosey D:3) B2 &n:

Sredol & I8wHodsss :
(1) « (Alpha) (2) P (Beta) rﬁ/ y (Gamma) (4) § (Delta)
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58  The pair of Amphibians found in Indiap Peninsula is :
(1) Amphiuma ~ Tylototriton and Ichthyophis
(3) Hyla and Ambystoma (4) Psittacus and Apteryx
grod des Sonadndo ehlod agabiddsve =& !
(1) esochobusse Dob Beaed & a8 @bl
(3) TFror & woBISr (4) 5-37;5’5&& a?;;aﬁa

59. In coelomates the problem of diffusion of food from gut to tissues is solved by :
(1) The presence of coelomic fluid
(2) - Churning the food within the body cavity
WJ/ Developing a circulatory system
(4) Developing gut associated glands
RS dPod® eI rSy D08 eFFrEn fomroihed®lS ogSysn
Tothed® Ko Sy sov S0:-005w85 !
1) 5% E580 aoked '
(2) . ¥88 HFe0os® aFrsn IHReds mloswde
(\3)/@33562:3 JIFIH VWO HDET Lo Sod
@) o35 SEF Sowedd (Koo DEHHHETIwod
60. Ovoviviparity is seer;min/mis caecilian :
(1) Wuchereria Typhlonectus (3) Ichthyophis (4) Uraeotyphlus
FHONS S0t ©oaIFeNETE ©HBoTH !
() Hsdoae R BIIEE B) s8@r28 (4 oreErssd

61.
A

0mv ' :
C
~70 mvl D :
B

Identify the region where all Na* channels are reactivated but closed and all
K* channels are closed.

goth o Na' 358 HX(@08o, =0 Srddcd 2852 SHoak, = K
358y mhsoﬁmg/@aoam $58,08 .
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62. A hormone secreted by the endocrinal cells of duodenal mucosa which mﬂuences

the release of pancreatic juice is :
(1) Relaxin M)holecystokinin
(3) Secretin (4) Progesteron

soESuce 'aaaé& FoE*R wods S Swrei (SRoSwé S'aai)o’(o ere ¢&8 0
(Segedda e aas*’é.:s; a8 : |

(1) Bee8y§ (b/a'ﬁé*mzas

8 Ba8S (4) @va:wwE

63. With the help of the below given, 1dent1f5r the correct sequence, that leads to
the formation of blood clot :
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(a) Blood clot (b)  Injury (¢)  Factor II
(d) Factor III (e) ‘Factor IV H Fibrinogen
(g0 Thrombin
Bo& aawds o8 IScHENe8® &Y GLofIdnsE 88 sond (Ehsus
8 oaein
(a) U8 SyofSsin (b) oedbo (e) sod8e I
(d) e=oEo 11 () ==g8o IV ¢ 2@steEs
(g) lLQ“OQS I
m b > ¢ > d > f > g —>a
@/ b > e —> g - > f —> a
ale
3 d —> b > c > g > f > a
et
4 b >d be > f > g S

5

64, Left shift of oxyhaemoglobin curve is noticed ynder :
(1) Normal temperature and pH Low temperature and high pH
(3) Low pH and high temperature (4) Low pH and low temperature
e Br3ri’DS du) SN Dwd 6oEMHBOSD

(1) oo wio & pH (B oy @ &o & ©85 pH
3) ooy pH & ©85 o 4) ooy pH & eey alio
Rough Work
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65. Hypochromic microeytic anaemia and Leucopenia are caused by the deficiency
- Rr———— | W— respectively.
(1)  Pyridoxine and Riboflavin @/Pyridoxine and Folacin
(3) Biotin and Folacin (4) Biotin and Cyanocobalamin
Bo (BDOE™ eorerrvrresrrsssnrssaston sswemssissssisssssissessen o 6°55 Sof TAHE°WE BE° A6
58irS8 HBon emgEialoe So%
1) 28a°8)S & 86°2aS ¥ 28a°8\S & Prordd
B) w@rdS & Foedd 4) od=85 & 'Eoﬁ:vﬁ‘é"me:?-bcg

66. Which of the below given bones divide olfactory capsules in rabbit into left and
right halves :

(@) nasals (b) premaxillae () maxillae (d) mesethmoid
Sodedo, ¥ (80b m:‘%eé’“ 28 | ForbiEol RNE IEH of grHsver
DEBOHD

(@ dwHe () wmoble Hrowen () mobiw (d) eryond
Q L]
1 a @/ d 3 b 4) ¢

67. The glycoprotein layer between ooeytes and cuboidal cells in ovary of rabbit is :

(1)  Membrana granulosa Zona pellucida
(3) Corpus luteum (4) Zona reticulata
Kodeudoh ‘g&m §%%50&® ?; Sredy before Soon SHgorondd Fasve
SHefg o A EES &Y g :
oD .
(1) DoBer mg&ﬁgé“;ﬁ' Wi/é'em Dendae
3 5 erpdabo 4 &% '6635033&7"

68. During the muscle contraction which zone decregses :
(1) 1 zone (2) Z zone {B)/1;.[ zone (4) M zone
So4d SoF'E IHoHof® O |Fodsn DHBE Wi ¢
(1 1 grodsn (2) Z | grodsw (ﬂ/ﬂ_@"oé&ﬁ» (4) M grossn
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69. Note the following :

(@) Skin (b) Phagocytes () B-cells
(d) Inflammation (e) Antibodies () T-cells
(g) Fever (k) Antimicrobial proteins (i) NEK-cells
NG Secretions. y

1dentify the factors involved in 2nd line of defence.

1808 &I H6IDoSHan :

@ Sogs ) &§s Sooe () B-gewoes
(d) asgos0 () |S8Tas=oen (H T-Seseen
@ mgusn (h) Barew 8 3835 @& () NKecells

() (eSS ,
? ok Ko B8 Ffw Tp wiTodH HBoHE.
b,d,gandi (2) b, c,eandi (3) d, f handj 4) cegandh

70. The urine is :
(1) _Hypotonic to blood and Isotonic to medullary fluid
Hypertonic to blood and Isotonic to medullary fluid
(3) Isotonic to blood and Hypotonic to medullary fluid
(4) Isotonic to blood and Hypertonic to medullary fluid
SrESy ©HIA “ L |
(1) SESosE ooymas HO 65y ESoISH IHEHE KOMOED
lm/:_s;ssm:sso 88 mEE Hook S8 (BIoIH IHEFS KORED
@) CESNIH SHrdd 0ok Sdg (BSoIN eoymrEd HDawH®
4) CESNIH IHEFE SO0 SIS |SSodHh ©hE rEs ﬁégcﬁnoda.&:
71. The extinct reptiles without temporal fossae belong to :
(1) Chelonia (2) Synaptosauria
(3) Ichthyopterygia (U/Cotylosauria
Yo greren 8D Ay wd Sydrer B8 SowohSsw :
(1) 86%Jase (2) D@ d0air
(3 agarbaoss & 86 005
Rough Work
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72. NORMAL— QO — ¢
@ —V CO— o
‘ | DISEASED — @ — ¢
' — I .
B s s
HH:I (DF—‘li *——O
In the above given pedigree, assume that no outsider marrying in, carry a disease.
Write the genotypes of II and IIL
B8 SrSeb8s Sof SFSWE® pahd Hob I;ISrES SgHBSRG s
cziaaﬁ& VENSFH SHES w6 goe” 1T & I Sugy. sy P ranes
oJS‘&.K»E;in
1) Al X% aza/ XY and XPx¢
3) XX X% and X%Y" @) X%? and X%
73. Match the following :
List 1 List II
(A) XX - XO, method of sex determination (I 2 Heterogametic
(B) 1.5 X/A ratio (II) Turner’s syndrome
(C) Karyotype 45 (ITIT) Hemiptera
(D) ZW — ZZ method of sex determmatlon (IV) Metafemale
B (808 PO edISHMWSL :
udﬂs‘ 1 : f.’:d;a’ IT
(&) XX - XO, Dofi Rorses H58 M P 28% Sod@ws
1 BE a0
(B) 1.5 X/A KJa’gg (ID 56 LoiE*s
(C) scﬂciisv'i’ow 45 ) (1D Bt
D) ZW - 2Z o Doeom $58 V) o&d
The correct match is : 3
SO0CHS wE @
A B C D
(1) -1 1V I1 I11
111 IV I1 1
3 IV I 11 111
4) I 1V Il 111
Rough Work
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A woman with blood group ‘O’ has a child with blood group ‘O’. She claims that
a man with blood group ‘A’ as the father of her child. What would be the genotype

AM 2009 A

- of the father, if her claim is right ?

‘0D OB 88 SGan ¥OS § ‘0. SESEH SoseIsn FONAG 8. B o A
58 SSsn o "Heomds T veq S8y Sod ©d IS, e o A
ﬁ&gdﬂaﬁs&n QAo dodh?

b O @ 1P @/ 1AL9 @) 1B°

5.

A specific nucleotide sequence to which RNA polymerase attaches to initiate
iption of m-RNA from a gene :
Promoter gene (2) Structural gene

(3) Operon (4) Regulator gene

RNA rOX8E% ©&85730 m-RNA @uny) oHdpgisedd (@rdodod of

| &i;;}ﬂﬁi:c‘i_e SpESss 8

76.

( Fared w&:goﬁ @) Qe mabgaﬁ

(B) .« LSS (4) donoBm ezl

A selection that acts to eliminate one extreme from an array of phenotypes is :
(1) - Disruptive Directional (3)  Stabilizing (4) Coevolution

Ba¥gtrare O5S00E® &f wodgind SPofoSeded SVUak Swo gb :
1) IYHEe (B bedaed @) DiEEm  (4) IS0

Assertion (A) : The Theory of Survival of the Fittest is widely misunderstood.

Reason (R) : Evolutiondoesnotalways increase the chances of a species survival
and species do not survive when such chances happen rapidly.

(1)  Both (A) and (R) are true, but (R) do¢s not explain (A)

(2) - Only (A) is true, but (R) cannot explain (A)

Both (A) and (R) are true and (R) is a true explanation of (A)

(4) Both (A) and (R) are not true

o';‘lei'; opg (A) : ﬁp;iégéuo E‘Pda’ ESFS0 S barodsn wEwYorr 93‘5533
T

Soerdban @rdhe HFPHIE sleisveod Jodypdr od¥o
oW, HOk wendod wSwTsven 636668 QB I
Feden 305‘53&.5"536&)

(1) (A) H0oxw (R) Bodkh Jmak =0 (R) (A) % $6 wons 58w so&
(A) S @S Rmo = (R) (A) H SBoSES

W/(A) S8k (R) Bodr Jaad hdas (R) (A) 5 686 wons &S

4) (A)sH0ao% (R) ot VeI o

»Eass (R)

Rough Work
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78. In poultry first Deworming is usually done around thm age :
(1) 4 weeks em)zweeks (3) 12weeks (4) 16 weeks
§%6° Inse 8570306 D SHINE® OB |
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(1) 4seocen ( ‘B aroeen (3) 12 aroeen (4) 16 sroren

79. The gsequence of Nitrogen Bases (Triplet) on £-RNA is :
' Anticodon ' (2) Terminating codon
(3)  Degenerate codon (4) Initiating codon
t-RNA §|i8ad prosve @8 (|828) SHSESss :
wod §%aeS (2) eoodSwBcokn §%arS

(3) 3BX3S E%aS (4) sRAsdhdok 5§

80. Match the following :
 List1 List IT

(A) Sandwich ELISA (I) Three dimensional image

(B) QRS complex (II)  Substrate linked antibody

(C) Allograft (ITT) Ventricular depolarisation

(D) CT Scan (IV) Transplantation between genetically non-
identical individuals ,

1808 PAR e STEHBN !

@eDee [ @ Dee I
(A) >e8EDSE 203k (I  |Be8ob ($8Bowo
(B) QRS r‘_ﬁogéo (I1) @c‘ééémi nod& $8BFvo
(©) QFE':Lm%' (III) esds JEHeso
@)  CT &S (IV)  egrsrsgd 8 Sgiie Heg w03 |886°Sem

The correct match is (s S63DLS z2d):

“/‘A B C D
S I v I | OR 4

@ 1 IV 111 I
@ I I v I
& 1 111 v I

Rough Work
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